
Ligninger: ax±b=c store tal Navn:_____________________   Klasse:_____

Materiale ID: MAT.7.9.3.da www.gratisskole.dk

Forkort de følgende ligninger, så du finder værdien af x.

41x - 606 = 173

16x - 352 = 16

50x - 886 = 864

50x + 46 = 1346

25x + 14 = 839

46x + 33 = 1275

39x + 22 = 1777

34x + 41 = 619

39x - 662 = 79

44x - 204 = 896

17x - 284 = 192

26x - 649 = 443

42x - 130 = 668

11x + 40 = 216

24x - 207 = 393

28x + 26 = 558

33x + 46 = 1168

27x + 21 = 1155



Ligninger: ax±b=c store tal Lærer:____________   Dato:______   Klasse:_____

Materiale ID: MAT.7.9.3.da www.gratisskole.dk

Forkort de følgende ligninger, så du finder værdien af x.

41x-606=173

41x-606+606=173+606
41x=779
(41x) : 41=779 : 41
x=19

16x-352=16

16x-352+352=16+352
16x=368
(16x) : 16=368 : 16
x=23

50x-886=864

50x-886+886=864+886
50x=1750
(50x) : 50=1750 : 50
x=35

50x + 46 = 1346

50x + 46 - 46 = 1346 - 46
50x = 1300
(50x) : 50 = 1300 : 50
x = 26

25x + 14 = 839

25x + 14 - 14 = 839 - 14
25x = 825
(25x) : 25 = 825 : 25
x = 33

46x + 33 = 1275

46x + 33 - 33 = 1275 - 33
46x = 1242
(46x) : 46 = 1242 : 46
x = 27

39x + 22 = 1777

39x + 22 - 22 = 1777 - 22
39x = 1755
(39x) : 39 = 1755 : 39
x = 45

34x + 41 = 619

34x + 41 - 41 = 619 - 41
34x = 578
(34x) : 34 = 578 : 34
x = 17

39x-662=79

39x-662+662=79+662
39x=741
(39x) : 39=741 : 39
x=19

44x-204=896

44x-204+204=896+204
44x=1100
(44x) : 44=1100 : 44
x=25

17x-284=192

17x-284+284=192+284
17x=476
(17x) : 17=476 : 17
x=28

26x-649=443

26x-649+649=443+649
26x=1092
(26x) : 26=1092 : 26
x=42

42x-130=668

42x-130+130=668+130
42x=798
(42x) : 42=798 : 42
x=19

11x + 40 = 216

11x + 40 - 40 = 216 - 40
11x = 176
(11x) : 11 = 176 : 11
x = 16

24x-207=393

24x-207+207=393+207
24x=600
(24x) : 24=600 : 24
x=25

28x + 26 = 558

28x + 26 - 26 = 558 - 26
28x = 532
(28x) : 28 = 532 : 28
x = 19

33x + 46 = 1168

33x + 46 - 46 = 1168 - 46
33x = 1122
(33x) : 33 = 1122 : 33
x = 34

27x + 21 = 1155

27x + 21 - 21 = 1155 - 21
27x = 1134
(27x) : 27 = 1134 : 27
x = 42


